SBC #m&Eh—Iiav

KYU—R SLK > U—XFiER

D7 [OIL HOLE]

D4
= DN
- - A (6 I
D1h7|d1d2 /W M § D3 ' ) 1
L5
30°
L2 | L1 \Q‘T’//
L3
[SLK1610~3232, 4040, 5050] [SLK4020, 5020]
SUEES mu(;;%@ uP—hH 7!'2—)(!:'/:::0% fr:—D;w% gzé L | [Dai (PDC%D) BE =
SLK 1520 15 20 155 | 3.175| 12.4 | 1.5x1| 34 45 50 6
SLK 1610 | 159 | 10 | 16.6 | 3.175| 13.4 | 3x1 34 45 57 5.5
SLKN 1616 | 159 | 16 | 16.6 | 3.175 13.4 | 1.8 32 42 53 4.5
SLK 2010 20 10 21 | 3.969 | 17 | 2.5x1| 46 59 66 5.5
SLK 2020 | 19.6 | 20 20 3.5 | 167 | 1.82 | 39 50 62 5.5
SLK 2525 | 246 | 25 25 3.5 | 217 | 182 | 47 60 74 6.6
SLK 3220 32 20 | 327 | 3.969 | 287 | 3xi 50 65 80 9
SLKN 3232 | 32 32 33 | 4762 | 282 | 182 | 58 74 92 9
SLK 4020 | 396 | 20 40 | 5556 | 352 | 3xi 63 78 93 9
SLK 4040 | 396 | 40 40 | 7144 | 34 | 182 | 73 93 114 11
SLK 5020 | 495 | 20 50 | 6.35 @ 44.6 | 5xi 75 93 110 11
SLK 5050 50 50 | 52.2 | 7.938| 443 | 1.82 | 90 112 | 135 14




Ball Screw

o _DpP D7 [OIL HOLE]
D4¢
=& )
- = |
D1h7|d1|d2 i i £ b3 .
it lili: g
L2 L1
L
[SLK1520, 2010]
BAf7 : mm
EADTRnE
Ds DP Ds D7 L L1 L2 L3 ENTERS FAELR | IEfEEmES

C(KN) | Co(KN)
- - 55 M4x0.7 57 7 50 34 4.56 7.23 3000
- - - Méx1 43.3 10 24 40 7 12 3600
- - - M6x1 48 10 27.5 38 7.1 14 3600
11 6.6 74 Méx1 54 13 41 46 6.8 10.8 3000
- - - M6x1 52 10 31.2 46 11.5 | 17.5 | 4000
- - - Méx1 64 12 40.8 56 13 22.6 5000
- - - M6x1 77 13 45 62 20.9 57.7 6000
- - - Méx1 82 15 53 68 17.2 53.9 6000
- - - M8x1 82 15 47.5 70 37.9 62.8 6000
- - - M8x1 99 17 63 84 40.4 99.6 6000
- - - M8x1 120 18 80 85 75.7 149.7 6000
- - - Méx1 123 20 81.5 92 50 135.3 6000

667



